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PART-I : COMPULSORY / W1 : atfard
GENERAL STUDIES / ATHTRI 31209

1. Which of the following discases cannot
be cured by antibiotics?

{a) Tuberculosis
(®) Tetanus
(9 Measles
(d) Cholera

- Which of the following pairs is not
correctly matched?

(@) Computer : Charles Babbage
(b) Radio : Karl Benz
(c) Barometer : E. Torricelli
@ Dynamo  : Michael Faraday
3. The communication satellites are
AL (a) revolving at their own speed

- X

b &
5 1} m, - .umws
& s

< -

o N o

1. Praffiaa & @ frg 0 @ ufedfes g fem
aft e s w7

(a) ey
(b) 2™
(c) w@Eu

(d) Fam

2. Freferfiaa g # & #-m wh gafea oft 27
(a) FFR ;A ¥R
(b) fice] Gk
(c) #afrer @ Fo efi@eEh
(d) IEAE ;e SR
3. T9R I Hed
(a) I R A o FA wA R
b) R
© Y-ferwt
(d) 39 9Y T ST Feed A ¢
4. frafafaa vt # & freh SoFa T F
Ty Fgd ¥7
(@) dfan
(b) SHREH
(c) =&
(d) e

5. 243 cm ¥ 91 FHYT F HAHA &M
(@ 123 cm?

(b) 182 cm?
(c) 18 cm?

(d) 183 cm?
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6. If 2x+%-3, CROR—— O
- S
X x3+2 is ) %
3
(@) o 9
¢ ® g
19
b -
: (© ?_’l
{2
s 7
@ 2
@ = .
. 7. aft foht 2x2 4 px+4=0 %
7.1f one of the roots of the quadratic mgt,ﬁ‘lﬂl@@ﬁ
equation 2xQ+px+4.o is 2, then the —
other root is ( :
@ -2 b -1
(b) =1 ) (c)-.;'.'l
@ + d) +2
@ +2 sﬂmlaiﬁmmihmh
8. In which State was the military exercise mmw?
Vijay Prahar’ held in May 2018? (a) TERE
(a) Maharashtra (b) T
m Gujarat e © e ;
() Madhya Pradesh ‘ £
: 9. TgiTe W, 2018 F Fefi w1 e
9 Whoha.mnﬂnWomcnSmgles‘l‘ltleof PRl Y
Badmmton in Commonwealth Gamea.
' (a) T €T
(b) o o Ry
(c) %o firemdr
() P e .
i, 0. faw Ya w@ET ¥ y@ ¥
i Press Freedom Index, ik ("‘" 2018
(@) 13sal
(b) 136al
(c) 138al
>
(@ 137al +

el
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11. In which of the following texts, it is
stated that those who could not speak

Sanskrit language correctly were called
‘Mlecchas™?

(@) Shvetashvatara Upanishad
(®) Gopatha Brahmana
(€) Brihadaranyaka Upanishad

(d) Shatapatha Brahmana

" correct answer using the codes given
below the Lists : I :
(King) (Spouse)
A. Chandragupta I 1. Dutta Devi
B. Samudragupta 2. Kuberanaga
C. Chandragupta II 3. Kumara Devi

4. Ananta Devi

[in

E 0

12. Match List-I with List-1I and select the |

12. g1 A g-11 A giftra ity 7w gRe &

= fow g F2 w1 T W w3 R
-1 -
() (w=)
A. S3ra wem 1. zm &
B. gz 2. FEwEm
C. sz R 3. Fam
D.

FHARN WYH 4 =
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13. With reference to the book Arthashastra,
which of the following statements is/are
correct?

1. It is the oldest masterpiece on
Indian State Policy.

2. There is no description of Mauryan
empire and administration in this
book.

Select the correct answer using the
codes given below.

Codes :

(& 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

14. Who among the following addressed
Delhi as one of the greatest cities in the
world?

=

(@) Tbn Batuta
(b) Alberuni s

A8, Who is Likewn as the Father of India’s

E % wed A Poafefan 3
o m_m/ﬂs::a m t/'?

413 fog o 2 1 WA FHA I,

(a) ¥ad 1
(b) ¥ 2
(¢ 1323
@ Fd@13MmAd2
| 14. T A frm R B Frm F 3w e 4
& & ¥ H a1’
(@) ﬂ‘i‘sﬂ
».!Q)rmm
‘.(d)""sy‘g;a'-m
1s.l;mi‘§mwmmmmmm
e 87 _
(@) @ie foem
(b) e feem
(c) ¢ Fui
(d) «TE ST
16. ¥Rd % WpNfd W wehmm wem & fo
FA-8-F0 e R 1 ol e simaws ¥
(@ 7f&A
(b) 14 fm
(© 21fm

(d) 30w

—————
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17. Who administers the oath of office and | 17. wra # fsh w1 ¥ wwawra ® w 3w

secrecy to the Governor of a State in margen ) sy a3 Reramm R7
India?
a) WA w1 agafd
(@) The President of India "
(b) The Vice President of India (R g
(c) The Chief Justice of the High Court (c) T % I ATaTErd ¥ HEA A

of the State (d) Ta f Bue @ w1 s

(d) The Speaker of the Legislative

Assembly of the State 18. it wfaur & feg wm d gad w9 F A
. Al ) sgaeen #1 faaea e e
18. Which Part of our Constitution
envisages a three-tier system of (a) W IX
Panchayati Raj?
(b) WM X
(a) Part IX
(d) Part X (c) wm Xl
(c) Part XI ; {d) SSHCI1
(d) Part XII | 19. fiefifaa & @ fra T=a & Ao TaTEn T
19. Which of the following States has no ke
oil refinery? (a) TSRI@
() Gujarat (b) ¥
) Kerala () BHET
i ihatiisgarh (@) uhm Eme
(d) West Bengal
= 51 ' 20. frefafaa & @ FR-@ @ aifan § T8
'20. Which of the following rivers does not aed 27
- flow in Australia? )
, (a) & fraw
2 (a) Hunter River
 (b) Flinders River (b) fRed e
3 siver (c) 3= fa
SR (d) fead R

f the following States recorded | 21. fyfoflaa # & fFw T=g # 2011 N FFOR
in its population in 2011 § SHEE & T 3 BIRItE R »'J:,;,”.‘ .

@ ¥@
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22. Which of the following is the most
effective measure of population control
according to Malthus?

(a) War
(b) Disaster
(c) Birth control

(d) Social evils

23. Which of the following is not a biome?
(51, Desert
(b) Grassland
(c) Ecosystem

(d) Tundra

24. Dudhwa National Park is situated in |

‘which of the following States?

1

w) @ [

8

23, Freffa # @ FA-81 T S 1 3
(a) YT
(b) I F T
(c) e 7

24, U A W Pt § @ f
fora 27
(a) ¥R

st IR

‘.'(c)‘ T
(d) S wW
25. WM WfER w@Re gagu ¥ wgd 9

AR, qAHH F Ho Tho Mo (FF T
u—ﬁmm)g

@ 22
(b) 32
"o 42

@ 45
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26. Which of the following census years is

known as the Year of Great Divide' in
India?

(@)
(b)
(©)
(d)
27. SRI
(a)
(b)
(©
(d)

1911
1921
1951
1991

method is related to
wheat

cotton

mustard

paddy

28. Which of the following pairs is not
correctly matched?

(a)
(b)
(©)
(d)

Crop Insect-pest
Groundnut : Pod borer
Gram : Pod borer
Paddy : Banka
Maize : Stem borer

29. The rotation intensity of Maize-Potato-
Mung bean is

“
~(b)

100%
200%

?@ the following pairs is not
Iy matched?

26. frefaftaa s adf & @ B wma d |
‘merfars #1 ad’ % w9 d s e 27

(a) 1911
(b) 1921
(c) 1951
(d) 1991

27. THo Ho #130 fafy wafua 2

(a) A
(b) &
(c) v@%
(d 9= R

28. fafafias 3 ¥ #¥R8-w gm o gafea o 27

TEaA
(a) el
(b) =
(c) 9™

(d) @=

29. WHl-ATG-4N *F FEA-T5h ) T B

(@) 100%
(b) 200%
(c) 250%
(d) 300%

30. F=faflaa # & #9-m gm @@ gafea 76 27

TEH A

(a) Hreeht i

$rz
Tl BeF

Fell B
Eeal
N BeF

Drer 020
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’ PART-II : scIENCE / wm-I1 :

( PHYSICS /

31. Two long current-carrying wires are kept
parallel at a distance 2r between them
and if currents I and 2/ respectively are
flowing in these in same direction, the
resultant magnetic field B at the mid-
point between two wires is

Mo Mo
R ro
(9/ P (b) 2I E
Ho Mo
() ) i o A8 fnd O 8

32. Arrange in decreasing order of power
~ consumption for same light output :

. = T
cht

1.

sitfaes o ) e
HRETe! Y
31.:’!“?3%_mmﬁmﬁm§,
:“'?"'mmwmsmm%

Ko

@ 312 (OIS o

Ko

0 I£ @ T onr

ﬁ :
EeEEELELS G

sianda) 235308
(b} 1,2,4,3

(el e @;;;;3."4
d) 4,3,1,2

33. TF 220 V ¥AEd1 9T Hq #) 0F 0-75 H F
¥ @ e ™ R 3R w st 50 He
7, @ 38wl 7= Bm? '

@ 220w
b =™

© 110w

I
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34. Which one of the following is not
correctly matched?

Sl o — Faraday's law of
(@) VxE = B electromagnetic
induction

represents
(b) Idea

displace

current

given by
() Lenz’s law is a — Energy

consequence

of the law of

conservation

of

(d) V.B is never — Zero

35. Which one of the following particles does
not obey the Pauli’s exclusion principle?
(a) Electrons
(b) Neutrons
{€) Photons
(d) Protons

of — Maxwell

was

36. If we take E=%mou2 and p=mqv, then

the phase velocity of the corresponding
wave packet is

(a) g’ b v
c? v?
@ = @ =

37. The maximum rectification efficiency of
a half-wave rectifier is
(a) 100% (b) 91%
(c) 81:2% id) 406%

38. A beam of light of frequency v and of
intensity 10 lumen falls on a metal

- surface of work function ¢. In which of
the following conditions, there shall be
no emission of electrons?

0

- (a) :,.F‘or v>h

' 9

F 2%

Loy or \f< 2
: 9
(.glav“ s 1

@ Forv=it

%

%
34, fr=afafaa § § #7-w wé gafem 74 27
- . aé o m % ﬁgﬂ"
(ﬂ) VXE=—-5-t- m W F
wefifa #an B .
(b) fremm wmn w1 — HEwEa
foram fam o
(c) &=t Frmafom @ — i
ey fem

(d) V.B #wfiadtdam — T
35. fafaflgs %o & & F9-w1 @ gEdAd F

e fagra 1 arem T8t F=a?

(a) FGH

(b) =g

(c) w14

(d) wreF

36. R &M E=%mou2 M p=mgu &, @

Fafid a0 Y H Hell 37 8

@ - (b) v
2 2

o) =2 ), =
v

37. U% Ag-au el i ftran Tz s
(zegan) ®
(a) 100% (b) 91%

(©) 812% (d) 40:6%

38. v g 3R 10 A FFel F1 T yFE-
¢ FEFEH T TH UIg F IR W 9@ 2|
Frafafga & 4 frg foufa 4 1€ i 9wl
Ieqioid T Bm?

o
(a) V>z%ﬁ“ ’
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39. 233Th decays finally to 299Pb. How

many a and f particles are emitted in
this process?

(a) a=28, =8
(b) a=14, =14
©) a=7 B=6

(d) a=6 =7

40. The mass of a photon of frequency v is

fa) O

|- Bear (
&1

41. The energy of an atom (or ion) in its

ground state is —-54-4 eV. It should be

&

q .

Vv
9"

39. 234h fufen de wfm = @ 2P0Pb

e B @ wwa d B o a9 g @ 3eafia
LUl

(a) «=28 P=8
(b) a=14, p=14
() =7, p=6

) a=6 p=7

40, UF v IFR ¥ T F1 7AAH Al 8

41. i gomy (e smER) Fi e e |
9 -54-4 eV B 78 &M

(a) EEESHA
(b) STREw
(c) He*

(@ Li**

42, fr=fafiad & @ #9-w v wd gafaa 7@ 27
(@) fiowowfye@s — Ry

(b) iR e — a1Ee () o
# It

— Tads
— WENI-digal

(c) TR
(d) wREERE

&
qu "Q
a3yt Q

V¢

N
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43. An X-ray tube is operated at 20000 V;

which of the following statements is
correct?

1. 02A wavelength will be absent.
2. 05 A wavelength will be absent,
(@) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

44, Consider the following Assertion (A) and

Reason (R) :
Assertion (A) :

NOR and NAND gates are universal
gates.

Reason (R) :

Digital circuits can be made by
repetitive use of these.

Which one of the following statements is
correct?

(8~ Both A and R are true and R is the
explanation of A.

(b) Both A and R are true but R is not
the correct explanation of A.

(c) A is true but R is false.
(d) A is false but R is true.

If the wave function of y(7, t) of a particle

is Aexpli (k-7-wt)}, then the value of

2
- 9260
2m

@ v

2m
ay ﬁVﬁn t)

»kz s A

hzk; .
-—p—v‘r ™
2' -  ; 'ﬂ

’h’- a‘rwﬁ

6 R0 A

43, vw X-fem aferm 20000 v w Fd wd R

farferfean ol A A #g-mr/a wh B/R7
1. 02 A aoded aufesra i o)
2. 05 A womded gufeira a# 2m)
(a) *ae 1

(b) Faa 2

(¢) 1 32 e

(d) am1ag#2

. Pttt wwm (A) am w1 (R) m faEm

A
FUA (A) :
i (NOR) a9l ¥-2 (NAND) a&% =AT9%
(gfradia) T B
FR (R) :
b gwEh @ fefea ofmy @@ W
qFd B
Frafafias § 8 F¥9-m 9 wh 27

(a) @9 A @@ R @& % 3 R, A T
W R

(b) 3 A G R §A & fFg R, A =1 FA
e TE R

() AHH R T R TEA R
(d) A TEd ® W R §E R

Aexpfi (K- 7-ot)) B, @

2
M v2ymy
2m

1 qH '

(a) %W, )

»?
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46. If ¥=xi + yj+ 2K, then divF is
) 3

) 1

(b) 2

(d) 0

47. Two water drops of same radii are falling
in air with terminal velocity v. If both
drops are collapsed into a big drop, the
terminal velocity of new drop shall be

© v @ 2v
48. If Lg is the rest volume of a cube, then

volume viewed from a reference frame
moving with uniform velocity v in a
direction parallel to an edge of the cube
i’ F (s “'j' | O T v

REER T

Bon 78 550 b 4
(@) L - R

46. AR 7= xi 4 yj+ zk B, A divy ® 99 R

(a) 3 (b) 2

() 1 (d) 0

47. a9 e ) A s@-42 ag § daem am @
e &) ARk 2 A f e s ad 42
R, & 1§ fa #1 dara A wm

@ 2Y3, (b 273y

© %o @ 2v

48. 7R & A % fm st LY A, @ w6 A

vA W ¥ R F T S T wRd
¥4 A I T IqH. A M

@ L3
o 3]

2y}
(c) Lg_[x-..i-] |

”.

3
d) Li|1-—
(d o[ :2)

(2]

[

49, TIH I FZ T | F=E F TF FAAR
% it fR W sl (gm) o 21 R R 2
1/2 T W srafa erft

& 1 3
=38 — 38
(@) 16 (b) T
5 5
—3d —3d
© 28 e
~."¥ "'j,
L ,& Cyy
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50. Consider the following Assertion (A) and
Reason (R) :

Assertion (A) :

The areal velocity remains constant
when a particle moves in  the
influence of a central force.

Reason (R) :
The angular momentum of a

particle moving under central force
is conserved.

Select the correct answer using the
codes given below.

4a” Both A and R are true and R is an
explanation of A.

|
(b) Both A and R are true but R is not

the explanation of A.
() A is true but R is false.
(d) A is false but R is true.

§1. Which one of the following is not the

condition for three vectors A, Band C to
- coplanar? ¢ oh

@ A(BxE)=0
(b) Ax(BxC)=0

(c) nyA+ny B+nzC=0

Ax Bx Cx

@ |Ay By Cy=
Az Bz Cz

32. The excess pressure in a soap bubble of
- 2 mm radius, if surface tension is
0:03 N/m, is

(a) 30N/m?
(b) 40N/m?

() 60N/m?
":.‘;'f (d) 120N/m?

50. swffaa #o (A) aw wmm (R) T FEm
#$ifsr

A (A) :
FA @ F yvra 4 nfa @ o ww o=
arfra 3 feqr wen R

F (R) :
¥4 aa ¥ srata e fEd o ow
#fta wam gefia Tea )

1 fau mu gz A wEEa & wh 3w G

(a) @M1 A @91 R weg § 3 R, A #I =T
e B

(b) @it A am R @ ¥ feg R, A 1 =TE
E Fen R

() AwE?2 g RTem R
(d) Ao & fg R w B

1. = & ¥ F9-W v €7 wfewt A, Baw C F
& @ e § B I e

(a) A(BxC)=0
(b) Ax(BxC)=0

(c) nyA+npB+nzC=0

Ax Bx Cx

(d) |Ay By Cy|=
Az Bz Cz

52. 2 mm o0 % 997 ¥ o qeae § sfilRe
I (I iy), Il YB-394 0-03 N/m
o, R a2

e L S 171 Y4 4 S
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53. The second’s hand of a watch is of 5 cm
long. The speed of the tip of this hand is

(a) 06145 cm/s

(b) 03142 cm/s

(c) 04192 cm/s

(d) 05233 cm/s
S4. Torsional couple required to twist a
cylinder of length [/2, radius r and

modulus of rigidity n by one complete
turn is

4
@) 2u21nr

mr?

2!

n 2r|r4 ,

(b)

83. el wdl A dwve aren gE 5 om AT A
?1 v gf A e A =@ Bt
(a) 06145 cm/s
(b) 0:3142 cm/s
(c) 04192 cm/s
(d) 0-5233 cm/s

54. 1/2 @k, B r U1 n gga i A v
% U qeH F T Tw G0 U39 ¥g sEvaE
T3l ae-gm 8
(@) 2n2nr

l
Sl

(b)

r4

n
@ nznr

5. g1 qun 'qsh-nﬂ?f gafera A 7o F=
\?ﬁﬂﬁﬁmmﬁﬁ‘l

w1 gEhen
(mmmtmmm&nmﬂ

()

== five) o)
. FEE MM AR RE 1 2,
3ra e .
- R Mam B REw , Lp
- wEmE M Bem RA 5 lp
T JAHR T ¢
A MG RrE 2 5
T AR e S
T2
@A BEe Zp

Lk g 1 g
BEA R e Db

A RN
e)SAL B i€ D

T 0 g
EAr B ¢ p

§hail 13 g

~


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

56. The frequency of a light spring when
1 kg weight is suspended on its end is
4 oscillations per second. If 4 kg weight
suspended to the same spring, the
frequency of oscillations shall be

(ﬁ\ 8 per sec
(b) 4 per sec
(&) 2 per sec
(d) 16 per sec

§7. A particle of mass m executes a simple
harmonic motion of amplitude a and
frequency n. The maximum kinetic
energy is

@ mn?n?q?
(b) 4amn?n2q2
© 4mn?n2a
@ 2mn?n?a?

58. The differential equation for a certain

system is
2 €
X ok L o2x=0
dt2 dt

If wg>>k, the time in which the
amplitude falls to 1/e of its initial value
will be '

(@) % second
(b)
(©
(d)

o rectangular SHMs are represented
by x=asinRQwt+¢) and y=bsinwt. The

resultant of superposition of two
represents

>l Flw N
8 8
5 3 8
[+% [o% o

(a) a parabola

(b) the figure of 8
(c) an ellipse

(d) a straight line

/18-B

56. UF vk fBm A 1 kg W @z T TG
Aer-amgfa 4 ufa Ao ¥y 3 @A 4 kg
I ez Fah) Ao - srgfa

() 8 ufa @’
(b) 4 ufa Ao
(c) 2 ufa Ao
(d) 16 ufa Ao

57. m FSHA F1 UH F HAH q a9 AFH n A
e rad Mt Fn ¥) Afwan 1few w2

@) mn?n?a?

(b) 4mn? n? a?
© 4mn?n?a
(d) 2mn?n?a?
58. TF fiffera a9 % fordl srasa w2

d?x dx "
F"‘%E*f@%X-O

ﬂﬂmo>>kﬁ,?hatm,w HEH
YR 7H ¥ 1/e 7% fiwan 2, #m

@ 13
k

(b) %ao

© 33
k

@ 23
k

59. 3 TFEaq W@ Ed el x =asin@ot + )
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i | 60. A tuning fork of frequency 500 Hz is
1 vibrated with a sonometer wire and
i 8 beats per second are heard. The beat
o frequency reduces if tension in the wire
is slightly increased. The original
frequency of the wire is

(a) 516 Hz
(b) 508 Hz
(c) S00 Hz
(d) 492 Hz

61. The power absorbed in a driven
harmonic oscillator is maximum at the

(a) highest possible driven frequency

(b) amplitude resonance

(c) velocity resonance

(d) frequency where the amplitude
drops to 1/e of its maximum value

mass 9-8 gm is stretched
f 10 kg weight between
meter apart. The
middle point between
ent magnet and it

f. The value of f is

{;il i"gpreaehted by

g
e

60. 500 Hz wmft % wh @i fgs A T

a‘ﬁwﬁam%mz@amﬁmmms
e gd 33 #) af aw & e A §O e
£ 1 B, o Pz g FA A A R A
)y smafa ?
(a) 516 Hz
(b) 508 Hz
(c) 500 Hz

(d) 492 Hz

61. TF Wil Afers # Tl seriw Hfuwan

el 2

(a) ik gwife wonfed smfa =
(b) 3T HFTR T

(c) M STFR T

(d) I |, & AEH Ay Afusaa TH
F1 1/e A1 FH B &

62. FHHR g W @A W F I

9-8 gm FAWA H Uig-aR 10 kg W F
7 & flg= gan ) 9 R wWRll gEE F D
ydl ¥ <9 an &1 wfeg ge@ #) a0 A 6
f R # yEd gm vared dd R, @
HWd ar § AR WW qa 2| AP\ f F
A #

(a) 100 Hz

(b) 98 Hz

(c) 50 Hz

(d) 49 Hz

3. TF SFIRY q01 wHa

Y=2sin(62-8t-0-314x+3.3)

A wefifa R, Sl x 3R yF qm Fnde @ 2
e ety gnfi

(@) 100 Hz
(b) 50 Hz
(€) 314 Hz
10 Hz
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64. If the carth were a homogeneous sphere
of radius R and a straight hole were
bored in it through its centre, then a
particle, dropped into the hole, will
execute an SHM with its time period

@ r=2z/R raszg

g

© T=2n/2R Ly roon =

g 2g

65. In Young's biprism experiment using red
light of wavelength 6400 A, 60 fringes
are seen in a certain field of view,
Instead of this light if experiment is
repeated with blue light of wavelength
4800 A, the fringes in the same field of

view will be
(@) 90 @f 80
(e) 60 [ 45
86. For a thin convex lens, if object is at a

istance of x; from its first focus and
age at a distance of xp from the
~ focus, if fi and f, are
vely the first and second focal

s of the lens, the condition which
is

nt sources of equal intensity
: ght of same wavelength

65. % ¥ fR-fisn =fr wdm # 6400 A
TR F A THFW F G GA FA T OE
fiffea gwadm @ 60 i fard wedt #1 @
YT F T™H W 4R TG F 4800 A FEA
I i yEw F @iy g W, @ 39
g 1 e Bt o 97

@ 90 (b) 80
(c) 60 d) 45

66. A TF gadl I oW F foY IFF WUH BEE
A ag F @ x) an fdfm v ¥ wfafaa
ﬁ@)@ﬁmflmfgmzﬁ'ﬁﬁ
vud g fydfa wiew il &, o frafafes w6
# & Hge 81 areft wd @

@ x1fi=x2f2

(b) x3 fa=x2f1

© x2-x1=f2-fi

d) xix2=fif2 ,

67. 3 WNHA di@a I, T GNH oo A 9™
Wﬁ(ﬁﬁ?)ﬁa%q@w%lm%m-

farg A b R & el g w0 e 2

(a) 4l cos? (g)

(b) 4lpcos6



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

S

68. Four light waves are represented as
below :

1. y=asinayt
2, y=assin(ayf +¢)
3. y=a)sinwyt

4. y=apsinyt
(@ and ap are nearly equal)

The interference fringes may only be
observed due to superimposition of

(& 1and 2
(B)« 1 and 3
() 1and 4

(d 3 and 4

< of diamond is 2:42.

‘thickness of the
| “of calcite

68. = s ot f wew wafifa #
1. y=apsinmt
2. y=agsin(mt +6)
3. y=ajsinogt

4. y=apsin2ot

(a) W@ ap @ AT R)

fara A Pk s & st G fie
wwd #7

(a) 13M2
(b) 133
() 134
(@ 334

59.mmuﬁﬁ#h2-42%umm%mgi
AV WA THE H g FRE WA ¥
ford swif=ash o1 =1 W R, ST
(a) .30"‘
(b) 24-4°
() 35°
d) 40°

70. FEEe & ol aw wiftaw-fq wem ¥ fa
FA: po=1658 AU pp =1486 Bl T

v ¥ ol Fewnge % agan gt @ <
& dierd @

(@ 0.70x10™* cm
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71. Which one of the following is not
correctly matched?

(@) When the — Principal
optical system
is situated in
the same
medium

(b) The
passing
through the
nodal points
and perpendi-
cular to the

points
coincide with the
nodal points

planes — Nodal planes

axis
(c) The
passing
through the
principal foci
perpendicular
to the axis
(d) The number of — Four
cardinal
points of an
optical system
72. With reference to laser, which of the
following statement(s) is/are correct?
‘e &1_ It is used in surgery.
2. Itis used in radar.
3. It is used in the study of moon’s
GO
arface.
‘used in the study of distance of

planes — Focal planes

e

4 ‘- of 50 cm for
Its first radius is

71. frafefaa # A A-m 0w o gufem o 27
(a) 9@ wwfi @ — wur fag s

w @ omem 4 e fag w3
feda & 7 g
(b) frza fagal A — Aea @
TS O, U 31
A ael

(c) WA HHEE B — FHE A
TS §Y Ud 314
g ae

(d) wFifes @ F — =w
Fiféaa fagadt 1
@&

72. s ¥ wad #, fofafes =04 7 @

FH-|1/2 | /27
1. ¥R veafafhed § 94 &1 B
2. Tr @R # WG Bl B

3. ¥@ I3 # HAe ¥ JFEA A UL
B )

4. T T IEg3 A g F FwEA G WIw
B R

= fow M 2 F wEm = wd I IHA
(a) ¥ad 1

(b) ad 1 3R 2

(c) ¥ad 1,2, 33

@ 1,2, 3,34

73. A=5.0x10"cm ¥ R 50 cm W&y g

#1 wh 9F ufgw Fffa e R @h gum
o= #fi

@ 040 mm
el il
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74. Consider the following Assertion (A) and
Reason (R) :
Assertion (A) :
When a light ray falls on a
transparent surface having incident
angle equal to polarizing angle; the
refracted and reflected rays are
perpendicular to each other.
Reason (R) :
When light incidents on polarizing
angle ‘i p) it s given by
ip=tan" , where u is the
refractive index of the surface.
Select the correct answer using the
codes given below.
(a) A and R both true and R may
explain A properly.
(b) A and R both true but R cannot
explain A.
(c) Ais true but R is false.
(d) Ais false but R is true.
~ 75. A short-sighted man can clearly see the
otgects up to a distance of 1-5 m. The
of the lens of spectacles necessary
keme@ of\this defect, is
Ia} —-0-67D (b) -1-50D
ol %67D P Eth (d) +1-50D

h one of ﬂ!e followmg statements is

olo]

74.ﬁwﬁ1ﬂmmm)mm(m“ﬁ‘”
R

YA (A) ¢
s Aré war - Py Pt areeff @@ 1, 54
smafaa Fon yav wo % wre R, At
2 2, @ smaffa she goaffa swm-fEe

qreqt ervaEd B

F1V (R) ¢
S T A 0 (i) TS A R
A .'p=tan‘1(u), &l y greEfi @ w=
uadATH &

4R fog g 2 & @ I I

(a) 2 A R & & @@ R, A A e
T FHEA B

(b) 21 A 7N R @ & FRg R, A 1 @
Tl T R

(c) AGE 2 g RTEE e
(d) AT ® fFg R E R

75. F1é Ferege AN aren A6 1-5 m T TF F
el wEd: T AN R W R A FFAF
R saws 9@ F o9 fi v

(a) -0-67D (b) -1-50D
(c) +0-67D (d) +1-50D
ﬁﬂﬁiﬁﬁmﬁﬁ%m-w@mwﬁ%?
(a) @ 273 K 9 Sl 21

(b) &% 0 °C ¥ FW fugem & R

(c) W 100 K 9 Il 2|

(d) T TS FI HEH 99 37 °C A1 2

77. 10 gm %, 0 °C @R a9 | 5a § yfEfa
Al 21 T aREdq cal/K & }

(a) 093 (b) 193
(c) 293 (d) 0-293

78. fOR T W @ @ F1 @ 50 whiw w@

Sl ®1 3T | @, @mm

(a) 66% (b) 33%
(c) 17°<;\ A" (d) 8%
) ;
N L e e
\ \ \ Qo

A’( A;
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ﬁ Which one of the following is not a
Maxwell's thermodynamic relation?

87‘) ap]
a —
(@) [av oS At {
as) ap) P e
= (av)r (ar v 3
oT av
@ (55 el5sl
@ (), %),
aP oV
80. The first law of thermodynamics for an
adiabatic process is
Aa) du=-3w
(b) du=8w
(¢) du=0
(d) du=-8H+28W -
1. The wavelength of the radiations for
which the energy is maximum in the
~spectrum is 490 nm. The effective
temperature of the sun is
s (a) 6920 K (b) 6000 K
(c) 5914 K (d) 5820 K

=5 &Jhipiece of red glass when heated in dark
- to red hot state, it will appear to be

verification  of

79, i & 4 Ma-m uw AwwAa w1 FweEE
wrary Tt R7

@ (5v)s~13s),
o (&), el
o (on)s(55);
@ ()5,

80. UF %™ WHEN ¥ ot Fwmfeh 1 wum
o 2

(@) du=-8W
(b) du=8W
(©) du=0
(d) du=-8H+28W
81. fafwil =1 sorted, fmF fod aviwm & ==l
fian ¥, 490 nm ¥ g F1 9w a9 R
(a) 6920 K (b) 6000 K
(€©) 5914 K (d) 5820 K
2. TF A1 1 % Fi9 & ghe H1 FN § o a6
feufa o i form s &, @ @
 (a) v fard w3m
(b) o faré wam
(c) dren femrg w3m
() 3w &m
83. e & fam 1 i wene fiFn = o
(a) A g
(b) i EW
fesh g
(d) @M g
84. TF FHI 399 27 °C 91 327 °C % Wy FH

w1 3R T’ Fa aooqgtmm!\.
a\a%mﬁm &
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/ ' 85. JThe Clausius-Clapeyron equation is

-
ar~ T(v; - §)

dP T
X® a*mm-w
TR M
ar - Tp- W)

(d) :—‘;=wtv2-m

86. Two cells each of e.m.f. E and internal
resistance r are connected in parallel
across a resistor R. The power delivered
to the resistor is maximum, if

1. R=r/2

2. R=r

85. Fenfipm-wafida whwm
() [ |
dr T(Va - W)
" AR S -
O ar™ Liva-w)
T e

© " Tvn-w

dpP
— v
(d) T LT(V2 - W)

86. 3 @ Pt A% # o @e @A E am
st wfrw r ¥, ufides R % wHR F0
it <12 s ¥ e ®) A e fE s

8
1. R=r/2
. o
4R g e 7 A

on
(b) it

vz' ¢ .\'»:"
(© 1923

.
- % g

@ AR1mAR2
87. Gom uRuy H 2uF ¥ TF WURA F 40 F
C yfuE F wY e TR
‘{~2 Q
‘ ————— MAA—
]

T

2 uF 4 Q

H AW
6V 28Q

2 Q vfatus & w1 W= R
(@) 9 ¥

(b) 09 ¥

() 3 ffm

@ 15 @

et
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88. A step-up transformer works on 220V
and gives 2 amp to an external circuit.
The turn ratio between primary and
secondary is 2: 25, Assuming 100%
efficiency, the output voltage will be

(a) 275 volt
(b) 440 volt
(c) 2750 volt
(d) SS00 volt

89. Three equal resistances each of value R
are connected so as to form a triangle.
The equivalent resistance across any
two corners of triangle is

a) 3R

3
by SR

46) —R

W

2
% °@‘§R
ol B 4 3 TH )
90. Match List-I with List-II and select the
 correct answer from the codes given
ISR, (58 F5F *
SList-] & oo 8 o e List Il
ic materials)  (Susceptibility)
W Lex=-1
i V2. x==ve
h 2y ~and small
3. y=+ve
. and small
4. y=+ve

and large

88. UF Fwrfl ZAHM 220 V 7 FA Ha B
7 areh gfuy 3§ 2 Vfe ur warfza #n R
o aw fidfw goeeht F am-F W
U 2 : 25 ®1 100% zaa # feufy § frfa
fava #m

(a) 275 de2

(b) 440 ez

(c) 2750 @2

(d) 5500 49z .
89. @ =R wfaty R

AR P Fad | F g
wferiy &

3
“d
£
E!
s
p

(a) 3R
3
(b). 2
o \
© 3R
@ 2r
90. FH-1 a1 g-1l F ghera i aw =
fow M %2 @ wé IW gAY -
TEt-1 Tqet-11
(grrehra weme) (srfw)
A. sfrgadm 1. x=-1
B. sggad 2. y =Y FOIHF
C. dr-gadm 3. y =Y YATHF
D. sl wfergradia 4. x=79 g
2 :

(@)

(b)
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e —— e

( CHEMISTRY / T@T@A-fasm )

91. Which one of the following is not
correctly matched?

(a) Arrhenius equation : Effect of tem-
perature over

rate of reac-

tion
van't Hoff's differential : Order of
method reaction
1 : First-order
!9)4 =0.693x— B
o R reaction
1 1 s
(d) ty, = se=i: ¢ Zero-order
12 ~initial concen- R reaction
tration of
reactant

92. Consider the following statements :

91, sniferfira # & freit gier Tt R7
(a) snfEfag wftwo sfufpm-2t ™
A %1 9TE
(b) a2 € A swen . whfEm A
fafa *if2
of hp=0:693xL ¢ TEAR A
1 : -#if2 #)
(d) h/n"ﬂw:i?m"k g&'ﬂ
92. st wurt T faem A
1. sfufem ® a9 dGR A @A A
Sl %9 @ S R
o s m A 2, W shEE
mmﬁﬂmﬁ,%ﬁlﬁ%ﬁw

h ‘M%li‘ i

(a)"“l\'i‘TR2 2w ¥
(b) tammt
' (&)l a1 madowdi

B aNifNT | o enan e R b
pH &1 91 gatfus g 27

(a) NaCl
(b) KNOg

(c) NagCO3

@ zop
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94. K. Ka, Cand « are the ionic products
of water, dissociation constant of acid,
concentration of the salt of weak acid
and strong base and degree of
hydrolysis of salt respectively. The
correct relationship between these is

(a) a:K‘l‘/,Q.Ka‘l/Q.C'lﬂ
b a=K, K, -C
© a=k3V2.x;V2.c-12

@ a=xY2.xl2 c2

95. At 80 °C, pure distilled water has [H30%)

concentration 1x107° mole/L. What is
the value of K, at this temperature?

(@ 1x107®

(b) 1x1078

(€) 1x10712

@ 1x10714 4

96. Which one of the following is not a
buffer solution?

- (@) Mixture of aqueous solution of
Ay ~acetic acid and sodium acetate

i e
AdSw

of aqueous solution of

94. Ky, Ky, C 3 o« #ww: w& %1 smafys
PR, 3 friem fs, gda ama
aul wad ] R 4 £ gz s dmm
-z ) Ff2 B gk o wh gy
(]

(@) a=Ky2.Kk52.c7V2
(b) a=Ky K -C

© a=KV/2.x;V2 cV/2
d) a=kY2.gl2.cV/2

95. 80 °C W Y& A 7 F [H,0* | 1 |z
1x10°% mole/L 21 38 M W K, 1 93
1 gm? : -
@ 1x1076
(b) 1x1078
(e) 1x10712
@) 1x10-14 ,

96. st 4 & - ww Frer i 27
(a) ¥R s s Ao w ¥ we

faeram @1 fasm

(b) MY ERgiEEsE sl amifaw
FANIES F SeAd freram = g

(c) ®fEm fae sin dfean wgime &
et faerg &1 fysor

(d) Wfemm TEgiaEEe ol ERgEeRE s
%F Sty faerm #1 s

97. Pbly #1 fackm s #| fackmn prwa, K,
& fordt vt =9 @

@ Kgp =s°

g 't.}'%‘. 1,
(b) Ksp -sz_-‘_ i



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

98. Which one of the following will change

the value of equilibrium constant? qae am?
1 (a) Addition of reactant (@) -
' l‘ . (b) Change of temperature (b) _qfrada
| (c) Addition of a catalyst
(c) m-ﬁﬂ

(d) Addition of product

A 99, In a reversible reaction, which one of the
following equilibrium constants, k L LI feerr
suggests the fastest completion of the o ?-; qhq a1 st .4: ';:a: $ AT ’é?k

reaction?

(@) k=1 957-.,' e (@) k=1

h @ g=102

2 3' ’ (c) k=16.

() | k= 1672

" When | 100, s wixr s < o i e F
d in terms of # wefifa &, @ Iopwim sfifen ¥ W=

mole litre ! R wmw: K, R K, ) P § @
Vt‘hgfonowing aﬁm%ﬁvﬁﬁfxccﬁm?

(a) PCls(g)=PCl3(g)+Cl, (g)

(b) N2@+3H2(8)"‘2NH3[8)

(c) COCl, @"*CO@-fClQ =)

(@ Hp ®)+17 () = 2HI (g)
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101. Formation of ammonia g represented 1,
the following reaction :

N2 @ +3H; (g) = 2NH3 (g) +22 0 keal

Which one of the following conditions is

most favourable for the formation of
ammonia?

(@) Increase of temperature

(b) Increase of temperature and
decrease of pressure
(c) Decrease of temperature and

increase of pressure

Decrease of pressure

\\

101, smfym # frfn fre sififem g weffa
R

N2 @)+ 3, (g) = 2NH 3 (g) + 22 Okeal

frefafan @l 4 @ e seifen P ¥
o wafires seger B7

(a) AT FN AG
(b) A 1w 3 7 T

(c) M 1w 3 T F AGH

"1 '

(d) @ F T
102. f= A & fred ghre =i 27
(a) Cp : [2‘1’]
oT |p
(b) AH : PAV+AE
() Cp-Cy . a_P]
aT |y
(d) Cy-dr dE
103. swififa 3 A -1 wd 27

() U 31 TF T v

(b) TH IR sffEm ¥ Rl e T
TS FHF B R
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104. A heat engine is operating between
temperatures 500 K and 400 K, What is
the efficiency of the engine?

(a) 020

) 080

(¢) 125

(d) 0:50
105. Consider the following reaction at
temperature T :

SOQ&)"F%OQ ®— SO3®
What is correct relationship between

change in enthalpy, AH and change in
internal energy, AE for this reaction?

1)
e F08. O3

@1

)

104, 7% Fan 4 500 K 3 400 K At & ma
wrd gt B g ) amen @ 7

(a) 020

(b) 080

(c) 125

(d)

105. 7 am @ e sifirfrn @ fram fifi .
502 (@) +502 &)~ SO3 )

m afufrn & folt i Fen & ofEmdd, Ay
Ay AR FoN A ofEdd, AE ¥ 9w w5

gy R
(R T fe= 2

0:50

(a) AH=AE-RT

(b) AH=AE+RT

1

(c) AH-:AE+%RT

(@ AH:AE—%RT

106. freg-eewdices wiim & o sdifrfas

Al W faEn Hifa ;
T8 UF H3d 73 & o W A R

2. I& YW Ho H qREdq au1 Tl § gy
=T B

- A9 Ry T gz A wErE @ @ I R
(a) 1 9& R 9Ty 2 e @

1%

(b) 17 g 2 WA R
(c) 1323 ah R
1 3R 2 26 e &
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107. Which one of the fy
compounds will be fo
CHCl3 with ale.KOH?

(a) HCOOH
(b :cCly

llowing Species/
"med on heating

() HCCl,
. ®
(d) CcCij

108. In which one of the following

compounds, the C—Cl bond dissociation
energy will be the least?

cl
@ @/
CHaa
CH;&-CI
CH.

CHy= CH—CH,Cl

)

CH=CH—Cl

s e
Yo

_ } B
one of the follow: :

18

the most

31

4
107. CHCI 3% UeIeieh KOH % @ m' %31 7
siferftra o & @a-m ofisfrs/Mirw a5m?

(a) HCOOH

(b) :CCly
©

(c) HCCl,
@

(d) CCls

108. F1 # @ fpm i § c—c1 sEw

3y fedrem Sl =pem 27
cl
(a) ‘ @/ i
CH,
(b) CH§>°_CI
CH
() CH,=CH—CH,CI "
(d) CH,=CH—Cl
109. 19 3 § F¥9-w waifts ey 27
CHj >
(@) -
NO,
OH 2
H NO,
NO,
o Ol
5 NO,
cl
@ »Q X
NO,

[ P.T.O.
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er the following statements about
Resonating structures differ only in
arrangement of electrons.
All atoms participating in resonance
lie in the same plane.
Resonance hybrid is less stable
than the contributing structures,
 Select the correct answer from the codes
‘given below.

(8) Only 1 and 3 are correct
' W?hly2and3mcomct
Only 1 and 2 are correct
1,2 and 3 are correct

R b i

- o

-

llo-m*mﬂumwmm
Lo S dornst 4§ dem @ A

saae firg gl 8
2, mﬁmﬁ%mm«mgm
I
3. HPI W, Avem w1 B FH
e R
A fau g %z ) wrr A @@ W g

(a) ¥ae 1 afe 3w ¥
(b) aer 2 o 3 wh
(c) aw 1 32w
(d) 1,2 33 udhE

111, HfufEm
Bl‘z/Nll

# g & @ F9-m1 Dt T 7=wm?

TP Br

m i ) B
(d) CHy—CI H:
R

:

112.f9 § A Fwwm M sy 1 B @
waifus e gm?

» QL
Cl
1
Jey

vvvv

(©) Q\
)

— -

(d)

A
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113, Consider the following statements atoy
SN2 reactions :

1. They are bimolecular reactions.

2. They proceed with

complete
inversion of configuration,

3. They involve the formation of an
intermediate.

4. No rearrangement is involved in
them.

Select the correct answer from the codes
given below.

(@ Only 1, 2 and 3 are correct
(b) Only 2, 3 and 4 are correct
(© Only 1, 3 and 4 are correct
(d) Only 1, 2 and 4 are correct

\.

eotrect name of the reaction

COOC,Hs

COOC,Hg
CGHSCH=C

COOC,Hs
gel reaction
reaction v

1 condensation

113, Sy 2 sfufnait ¥ fd swifafeaa wedi T
fam Ao,

1. 2 Ranfoee stfifrmn #)

2. g farnma w g ufee w R
3. il v mwradi 7 R

4. il gl T A R

1 fa 1 2 ) wer @ T 3T I
(@) Fae 1, 2 s 3 wH %

(b) Fae 2, 3 3l 4 wé B

) ¥aa 1, 33w aah?

d) ¥aa1,23Mm4uh i

114, fufEm
COOCHs  yr
CgHsCHO + CH2< —
COOC,Hs
COOC,Hs

CgHsCH=C <c -

115. f= @ @ F9-w @RE, >C=0

® ©
(a) Ph3P—CHjp

® ©
(b) PhzP—CH—CHj
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@ ) o
116.CN is a specific catalyst for benzoin | 116. I5igr wam ¥ ford CN IR T ﬁf,,b

condensation, because TN B, wifE

1. it is a nucleophile 1. T% uF AfvEEd 2

2. its electron-withdrawing  ability 2. o geaa st aEd, ez,
facilitates  loss  of  aldehydic FIEEIA F B F) gTH A o 2
hydrogen

w5 TR R
3. it is a good leaving group 3. NGB S o

4. it is a strong base 4. TR UH WA 4T R ‘

I
Select the correct answer from the codes 419 fow 70 Fz i wEEa @ T IW
given below.

@ 1,2, 33M4uhE
(ﬂ) 1»2.3lnd4aretrue
(b) Fa@ 1, 2 3 3Té &
(c) Fad 1, 3 3N 4 7 &

(d) %ad 2, 3 3N 4 T@ E

(b) Only 1, 2 and 3 are true
() Only 1, 3 and 4 are true

~(d) Only 2',3 and 4 are true

. FEfIREa FUH (A) A9 FRO (R) W fm
Hifere .

o (A) :
it Afceerse Ueeta wow 23 8
T (R) :
HREETES] ¥ o-aregiom swchia 213 ¥
ﬁﬁ!m%ﬁmﬁwmgﬁa,

(@) 3 A 70 R WA ¥ s A w @
WEF R )

(b) 3 A 7 R WA 3 @
W Ry

(d) AW*"QRWM
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118. Which one of the foljowi
does not result in carboy
formation?

NE reactions
V-carbon bond
(a) Friedel-Crafts reaction

(b) Perkin reaction

(c) Diels-Alder reaction

([d) Hydroboration reaction

119. Glucose and fructose form identical

Osazones, because

(a) they have same molecular formula

(b) they have identical

configuration
about C 3

C4 and Cg5 atoms

() both of them are monosaccharides

(d) aldehydes and ketones react with
d el phenylhydrazineinsimilarmanner

Product
: Gluconic acid
: Glucuronic acid
: Sorbitol

: n-hexane

35

118, aifrfta # A e sififrn § wrda-wT
vy Tt e 7

(a) SPYBE-Frwzm arfifmn
(b) uffa sifirfFm

() #em-teze sifufem
(d) FrEgYETE sfifEm

119. AW a1 HHE wAGy siErE # a8,
Fifeh

(a) I VA HHH
(b) IH C3, C4 T4 Cg mﬁ *l
o= adan 3

(c) =1 ArrdFTe

d) ¥TEErs qu FRE, FewEEdAa F @
& H w9 | A w0 2

120. wFw H auifafes sfufenst & 3 fead
Hel gher T 27

e IR
(a) 3 S D 37
(b) T s EIE I
(c) Wifem diege @it
(d) /== HI @ @& : n-gRE
IR

121. 39 Tges A veam Ay, e e ave
fFRAmr.

T i
Il
_NH-{-.C—CHz—CHg—C—NH

—(CH2)4—NH—1;‘4|:|:—
(a) BN 44
(b) TR 4
(c) EHH 6
(d) FHA

—

. m e—

T G O A
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—

122, 11 @ #ifsrg au
sl pi ‘Wm F m I ié‘?d
qeft-1 11
(wmere) (veweTe)
A. wipfow @ 1. FOOCH;
+ HO—CHy—CH,—q
OOCH;3
B. 3m@f 2. CFp =CFy
CHj;
3. cn,—é—cn- CH,

4. CHy=CH—C=N
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124 Consider the following statements for
e Beometrical isomerism :

Tg:“}‘ L All geometrical isomers have a
o - double bong.
ﬂ'f: -3' All  geometrical isomers  are
= Stereoisomers,
]";; 3. an Bcometrical isomers have
-\ - Testricted rotation about a bond.
5 I8 L
P8 !4‘ No two substituents on any of the
. atoms about which there s
Vi Tou rotation, should be the
- Same,
S LOF theee, the correct aefimbnts are
(@ only 1,2 anq 3
. ® oenyi2ands
5% ) only 1, 3 ang 4

124, wnfidi wwaEl ¥ fr spiferfias FeA @
faram $fim

1. wh wqfide goagE 3§ o R
Ll

o o) afedra wrETa swfafieh fafm
wraTa w2 B

3. @ st quraadl 4 P o A
i sfrar e B

4. wivafim qoia @@ s @ 93 e o
ey Y o A wfard wa A A
=1fedt |

& @ e wo ¥
(a) ¥Faw 1, 233
(b) ¥ad 1, 2 st 4
(c) #ad 2, 334
(d) ¥ad 1, 3 3 4
125, = Nl F 9% FE- TR Ramy
ﬂma3mﬁﬁ%!ﬂ%§Q§ﬂﬁ3Wm@3#m§a:
0]
I

0
cn;—g—ocm CH3;—C—Cl
(1) ()
o)
curg—u CH3—(":—NH2
(3) (4)

%2

(a)
(b)
()
@)

(@)
(b)
(©
()

1>2>3>4
2>1>3>4
3>1>2>4
2>1>4>3

126. IR W A, s 3§} FR-7 vy, ¥
T F wuifaa T F ¥

TS Sy

for sl At wae
il i

TTYER wNE

[ P.T.O.

o . EER
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5. K
~ 127. Which one of the following compounds
- will have Appex at 273 nm?

LT (@)

f:{s. X

R

~ 128. Which one of the following electronic

transitions rquu'% the least energy?

1 e Y, *
“, 9_",‘ B A

*

127. = # 4 273 nm W 58 MiF #1 A pax

A

128. 1 & A frw @RS @ F fod =Fam
St I EEHa #7

(a) oc—o*
(b) n—oo
(€ non
‘d) non’
129. A 3 A F Ee A FR Ru ¥ .

Fe?* /Fe, E°=-0.44V

Fe3' /Fe, E°=-0.036V

R m ¥, Fe3t +esFe?t, 1 B Ww
B

0476 V
0404 V
-0-404V

0772 V
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| 130. Standard reduction potentials of four
elements A, B, Cand D are respectively
-2-90, +1:50, -0-74 and +0-34 volts.

Which one of these is the strongest
reducing agent?

(@)
‘ (b)
(c)
@ D

BT

0O o >

'.. 131. Which one of the following cations has
the maximum hydration number?

@ c3
() k*
© Rb*
d it

132. Among the following, which one has the
maximum lattice energy?

G
g

one of the following cations has

maximum ionic mobility?
ey,

130. 5 @i, A, B, C 3 D, % qAH HTIH
fava M. -2.90, +1.50, -0-74 3
+0-34 dez §) i A walfus yae H99AF
2 p
(a)
(b)
(c)
(d)

131. aifafaa wrEl § @ ) Jemea g
waffis 87

@ c3

O QO Wb »

(b) x*
() Rb*
d Lt
132. Siferfaa & | e s s waifus 27
(a) BaFp
(b) BaCly
(c) BaBrjp
(d) Baly

133. aifeiflas & ¥ frw wamm N s
Tfeeficran waffas 27

(@ Ba?*
(b) ca?*
() sr2t

(d) Be?*

134, aifafes swaREl 4 ¥ Fw-w waivs

qria 7

(a) Sby03
(b) Biz03
(c) SeOz
(d) Alx03

[ P.T.O.
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i ¥

135, spifuftaa # A Fremm T FowEE BH-w
o

(a)
(b)
(©)

(d)
136. x.:omﬁm*lﬂ"‘mﬂmm%
(a) T3
(b) TF
(© @
(@ =
137, siffan Al § A e ft g T
i &7
(a) BF3
(b) AlF3
BNfe) “NEG
(d) CIF3
138, s A/ & @ B wE
| HfaFa eFah &7
i 1. SFg

©
<2. 'PFg

%

¥ pernds O gollc
e )SiFg
4. XeFg

A1 fow T e A wEEw A w@ I IR
(a) 2,334

<

1
1) si r&!ol' 2'3&? 3

(b 1,334
(© 23R 3
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140. Consider the followin

: g Assertion (A) and
g ‘ Reason (R) .
g Assertion (a) -
b Azimuthal quantum number
5 Suggests about the shape of the
\ orbital.
- Reason (R) .
_‘ - It gives information about spatial
distribution of electron cloud about
the nucleys.

Select the correct an
given below.

(& BothAandRaretrueandRia the
correct explanation of A.

(b) BothAandRaretrue but R is not
- the correct explanation of A.
f () A is true but R is false.

(d) A is false but R is true.

swer from the codes

141. For the spectrum of H-atom, which of
the following statements is/are correct?

1. When electron returns to the
ground state from higher energy
levels, Lyman series is obtained,

2. The wavelengths of spectral lines of
Lyman series are in ultra-violet
S region.
R - <) KT 1
- Select the correct
given below.

answer from the codes

41

lwl

141.

142.

wifefer v (A) o w1 (R) T P
i
HIF (A) :

freft w2 wem, waw % amEw F A A
™ A R

HI (R) :

8 v w3 s
& an d gu R

R Rum gz i wemm A wh 3w g

(a)ir-ﬂAmRmﬁﬁmA*’m
T R R

(b) 2 A @ R @A & wg A B WA
TAF R T R

(c) A W& R 9 R Tem R

(d) A TeE R 9Gg R @ ¥

H-7 % @agn & fod, sdiferfas st &
| F-71/A wh B/E7

1. I=® I Wl A 9@ WRA [ W ©
efrea B, @@ @gEa Aoft ww e R

2. R AN F Daph el w1 aored
T &3 F g R

R e g2 ) W & R

(@) 17w 2 3

b) Fd1TA2

(c) Fad 1

(d) *aa 2

T % s fam B R w0
e gA R

h
(8) AIXAPZ;

hn
2_
(b) ap e

h
€ AxxAp ZG

h
@ AxxAp>—-

[ P.T.O.

.
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one of the following ions contains
maximum number of unpaired

the ber of unpaired electrons in
qusl""‘ will be

()
1 i et

145, 3fe Ap<p R @ d* winfe =1 @RS
fa=ra gm

@ t3e%
) e*gtO2g
(© t32g elg
@ e";g‘t”;*’a

146. T RO T @ M 3, swdfeafea
# A -7 g Fifka B 27
(@)
(b)
(c)
(@)

‘spadz
spad

d 2ap3

(89, %) ‘,1‘“ i & a0
147. 9@ o, U238 frafida @ R, 7@ sr-3am

twim\ﬁr&aiim-‘mmﬁ
@ R?
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148. What is the half-life of 6C'*, if its

disintegration constant (A)is2.31x107*
years~!p

(a) 0:-3x10% years
®) 0.3x108 years

T 3.0x103 years

(d) 0.3x 103 years

149. with reference to catalysis, which of the
followmg statements is/are correct?

5

1 S

N b

Catalyst lowers the energy of
activation of the reaction.

i 2. The overall change in energy of
| reaction is unaffected,
Select the correct answer from the codes
i given below.

(a) Only 2

E—. (b) Only 1

(c) Both 1 and 2

(d) Neither 1 nor 2

The rate law for a reaction is given

DEIOV
UCI0!

,,,,,

ns of reactants A, B and C
What is the order with

148. 7R (C'* w1 fawzs s (), 2.31x107*
a1}, A g and- g w0 A7

(@) 0:3x10% ad
(b) 0:3x10° ad
(c) 3.0x103 ad

(d 0.3x103 a4

149, I3 ¥ g #, awiifefad wuA ¥ @

BH-T/3 wh R/

1. 33, sfufen 6 wfFam s+ 3 =
@ R

2. sfEm f o F wpl e
gvifaa & )

T fo e Fe 1 e & wh Iw gRA)
(@) 342

(b) ¥3a 1

(c) 1323

(d Fd13MmaA2

150. UF ffFm & ol = fram 49 e 2

r s t
W=k C4 Cg Cc
W& Ca, Cp TN Co Fow: wfFHF A, B

A C A A wiEa ¥ BF wed § srfufEa
0 Ff2 =3 27

(@) r
(b) ¢
(c) r+t

(d s

[ P.T.O.
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